Permutations And Combinations

HHY 31k a9g

Basic Concept (g1 Rigia) * "p=|r.c,l<r<n
* nCr nCF1 = n+1Cr , <r <n
* |n=1x2x3x..x(@-1)x(n) o e
* |n=nxn—1 b, =P,
*  Jo=1 *x "¢ ="c.»p=qorptq=n
*  Ifaneventcanoccur inm-different ways, following Multiple Choice Questions
which another event can occur in n-different-ways, (s fasweiia yw)
then the total number of occurrence of the events
in the given order is m x n 1. The value of |§ + |i is
m‘%@ﬁm m faff=1 aer & afed & A& 3 +]4 @ AF -
8 ARG TP AN Fe o fafe Al W a7 b 12
gfed 81 Fahell , Al UG HH H gemel & =fed c. 25 d. 130
B @ AT mxn ¥ | 8
*  The number of permutation of n different things 2.  The value of T——~is
. e l6 x[2
taken r at a time, Where repetition is not allowed, L
In 8
n
1 n Ny — —— < EF[ ‘:ﬂ:f %_
1<sdenoted by "p, and by "p_ P ,where 0 <r |§><|g
n
=1 o _ a. 28 b, 18
n A= a3l § | UP 9T H r Bl oddR I . 38 4 48
et il ' I il nﬂ 3. The value of |§—|iis
TE ¥, "p §RT @a &I 9N 8, 3R p = P |5 —|4 @1 A B
S8l 0 <r<n. a. 5 b. 9
. o1
*  The number of permutations of n different things, c. 96 _ d 00
taken r at a time where repeatition is allowed, isn”  4-  The value of 6 is
n fAfY=T axge § & Ud FHT H 1 B ABY G [6 1 AT B
arel AT B AT, Sdfh ARG T Al a. 720
ot o
* The number of permutation of n objects taken all ] )
at time, where P objects are of first kind, P, objects d. T & I Tel(None of these)
are of the‘ Second Kinq, ......... , P, objef:ts are (?f 5. The LCM of H,E,Eis
the K* Kind and rest, if any, are all different is .
In 14,[5,l6 @1 e AHOAR BT
P [Ps......[Pc a. |4 b 5
*  The number of Combination of n different things c. |§ d. |i X |§ X |§
taken r at a time, denoted by "¢, is given b )
o Y e IS EIVERDY 6. TheH.CFof 5.6, |7 is
“cr=\£n_r,0§r§n. 5 ,l6 , |7 @1 9ew |EEaE B
n =T axgell § & P 9T F r B ABY I a. |5 b. |6
arel el @) HET BT e | YHT I 8 3R . |7 d. |5 xl6x[7
_ \2 1 1 X
e, = ,0sr<n. 7. If@fQ) T—+-=7- then (81 al) x=
\L n—r (3f<) |§ \l |§ en ) x
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a. 32 b. 48 a n—r
c. 56 d 64 ' r
1 1 X n—r—1
8. If@@fd) {~+7-=1"— then (&, @) x= b. —(—
@) 1+ 7 o en (8T, @) x r
a 100 n—rtl
b. 90 ' | .
c. 120 d.  None of these (374 & ®Ig &)
d Eﬂ'ﬁ kil ﬁ? (None of these) 60, _
20. Ceo
9. 7p3 = a. @
a. 105 b. 140 b. 1
c. 210 d 175 1
10, If (@) ®p =2730 then (&), ) r= Y
’ Q3 P.= ?bn 4 = d.  None of these (T8 | PIg &)
c. 5 d 11 21, If @) "c ="c,, then (&1, @) e =
1. If@R) p.=20."p., then (&1, ) n= a. 248
’ : b. 496
a. 8 b. 9 :
c. 10 d 11 c. 992
None of th K '
12, If@fQ) “'p, :"p, = 1:9 then (81, TI) n= d one of these (F ¥ 1% )
a. 12 b. 11 22.  In how many ways can 5 persons occupy three seat?
c. 9 d. 10 5 3TEH! I HIe W fhdy UHR A 98 Fad 87?
3. P _ a. 15 b. 20
) Pa-2 c. 30 d 60
a. % b. 2 23.  In how many ways can 5 children stand in queue?
. 1 4 nm-1) fha™ UPR I 5 e Udh Ufdd H WS 8 Thdl &7
n-2 ' a. S b. 25
14. If@f) ®p_ : 'SP, =3:4, then @, @) r= c. 60 d. 120
a. 8 b. 10 24. In how many ways can 4 different-books be
c. 12 d 14 arranged on a shelf?
15, The Value of 5c. is IR =1 Bl DI T AR H fhail TR |
. 3
5
Sc, BT A B— a. 15 b9 ARSI AT S APl &
c. 10 d. 20 a. 4 b. 8
c. 24 d 16
16. If (&) "c, =220 then (g1, <) n= _ _ _
a 9 b. 10 25.  How many words with or without meaning can be
c. 11 d 12 formed by using all the letters of the word 'ROSE,
using each letter exactly once?
17. If@fe) nc +rc_ =mlc, then (&1, ) x =
. ( r_)l oo * (& ¥ 'ROSE' & AT 31eRI | 9 dTel 31fqof a1
b S1EH, TR T W R BN | wafh SRy @
c. r+l YRR &) Al 78T 2 |
d. None of these(§TH | ®Ig T8I a. 48 b. 60
18.  If (fQ) "c, ="c,,, then (&1, @) n= c. 24 d. 120
a 4 b. 24 26. How many words with or without meaning can
c. 14 d 10 be formed by using all the letters of the word,
" 'DELHI', using each letter exactly once?
19. w0 = ¥ 'DELHI' & 9+ 31eRT & a1 aret arefef &
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37fEIT TIRT @ WA T BRN? TAfd R B
gRTgIT 1 SFART T8 &7

word 'ALLAHABAD":
'ALLAHABAD' 375 & 94T 31&RI I g9 dTol
BT Bl T Bl |

a. 20 b. 60
c. 120 d 5 1?{ 2328
27.  Given 4 flags of different colours, how many c. 8690 _
different signals can be generated, if a singal d. T | IS T8l (None of these)
requires the use of 2 flags one below the other? .. o
fr—frer T & RY g0 4 319 B, R fre 33.  How many 3 digits numbers are there?
- N " A i Hee fean &7
= febg 8 e v a. 648 b. 729
s %“\; TP G B A, 2 FHST AT D c. 900 d. 1000
ISl B |
’ g b 10 34. How many 3 - digit numbers are there with no
i‘ 12 d‘ 14 digit repeated?
‘ ' T b T fhadr 87 Ife fdl &l e n
28. How many 2 digit even numbers can be formed T8 T R
from the digits 1, 2, 3, 4, 5 if the digits can be
conn
1,2, 3, 4,5 3T 9§ bl 2 s 9 A= 99 ' '
qHdl 8?2 AR 3T A TRIGRY A S wHA B | 35. How many 10 - digit numbers can formed by using
a8 b 10 the digit 1 and 2.
. 95 i 14 31 R 2 F 10 — 3@ B fha dw@ B
' ' NEDI-f
29. How many 3 digit numbers can be formed from " b o
the digits 1, 2, 3, 4 and 5 assuming that repetition a. 1132 ' \E
of the digits is not allowed? ¢. 2 d. 10
| 2 3 4315 @ A T 3 e .« 36. Inhow many ways can arranged the letters of the
e 1 word 'APPLE'
? T o o oS
< %Eﬁf & Al e F gl @ 'APPLE' ¥1g & 31&RT Bl fdhae a¥ip] | aiRerd
|
o m A 87?
a. 125 b. 100
a. 6 b. 60
c. 80 d. 60 c. 90 d 120
30. How many 4 - Letter code can be formeq using the 37. How many words begining with T and ending with
first 10 letters of the english alphabet, if no letter E b de with no lett ted out of th
be repeated? can be made with no letter repeated out of the
can P EI% N letters of the word 'TRIANGLE'
JUSH quiHTE UIH 10 3 B 4 IR .
'TRIANGLE' ¥I&d & 3Rl @1 o dRIdl 4
?}%mls:y;ﬂmd%,aﬁﬁﬂﬂﬂﬁamaﬁ craRerd AT o1 ol &, Sl URE T e
ST |
LENEIR 3T E 38R ¥ &I |
a. 5040 b. 1000 8
c. 6800 d. 810 o 3' Zigo
31. A Coin is tossed 3 timeg and the outcomes are 38. In how many ways can be letters of the word
recorded. How many possible outcomes are there? ) ) .
PENCIL' be arranged so that N is always next to E.
U gl dF aR STl W g G’ﬁ? qRoT 'PENCIL' ?Ts5 & 3R Bl el aipT & egeRerd
sifhd Fx forg S 21 g @ wwa = fopar ST Aodr 8, FHT SR E QR 918 H
FIT 7? N &l
1 1 a. 120
v b b. 240
c. 8. d 6 c. 720 _ _
32.  The number of permutation of the all letters of the d. None of these (5 ¥ PIg Tel)
39. In how many ways can be letters of the word
HafT-11 ATOTD) —




'"MACHINE' be arranged so that the vowels may
occupy only odd positions.

'MACHINE' 9lg & 3Rl &l fhd Tdl |
FaRerd fhar o1 dahdar ®, I wWR 3R Bl
P faud e § @1 O |

A3ER BT 9 IR, B ®I &I dR 2T C 38R Bl
Th IR TIRT b fhad e g9 Ahd 87

a. 6 b. 60
c. 90 d. 120

a. 288 45.  In how many ways can 10 books be arranged on
b. 576 shelf so that a particular pair of books shall be
c. 5040 always together.
d.  None of these (T4 | B 2l 10 BT BT TP AN F b g |
h e disi o of th Sgaerd f&Har S A&hdr &, Sdfd a1 fdhae @l
40. n how many of the distinct permutation of the :
letters in MISSISSIPPI do the Four I not come N o
together? a. |§>< 5 b. |2>< o
MISSISSIPPI & 3Rt & a1 forei—firet et ¢ 2B d. 2xP
J fhd= # TR 1 U G =81 3 8? 46. In how many ways can 6 boys be arranged in a
a. 40500 Tow? _
b, 33810 6 TSI Bl &fol ©U # fhad YR A afkerd
c. 5560 PR Hhd 87
d. None of these (375 & P a)) a. |5 b. |6
. 6 d 2X[6
41.  How many 4 - digit numbers can be formed by ¢ . L
using the digits 1 to 9. if repetition of the digits is 47. How many diagonals are there in an octagon?
not allowed. T A & Aol BI Fwer fha=il srfi?
19 9 Tb D JBI BN TANT BRD bl 4 ADBRA a. 28 b. 24
H@AG 9915 Sl Adhdl 8, AT bl B gaREfd c. 24 d. 36
EIRCERINEGE) = 48. How many diagonals are there in a polygon of n
a. 3224 sides?
b. 5040 n YTl arel g8Ysl H fba fasol gi?
c. 3024 _ _ a. snm—1) b 3nm-2)
d. None of these (S7H & P a))
¢ tnm-3 4 Lam+
42.  How many 3-digit even numbers can be formed 2 ' 2
with no digit repeated, by using the digits 0, 1,2, 49. A polygon has 54 diagonals, then the number of
3,4and>5. sides in this polygon is
0,1,2,3,4,3R 5 3P B YN ID 3—ABY e U T84Sl @ 54 (A0l &, A1 Yoirsll &l H==n
TH H@ fea 99 dadl 27 Al el @ a7 BIf?
QRIGNRT &1 AT T8l 57 a. 9 b. 12
a 50 b. 52 c. 15 d. 16
c. 4 d. 45 50.  Outof7 Consonant and 4 Vowels, how many words
43. The number of positive integer greater than 6000 of 3' Consonant and 2 Yowels can be formed?
and less than 7000. which are divisible by 5, with 7 QST 3R 4 R H | 3 ol IR 2 TR &
no digit repeated is. TN R fhasl eeg qeidl?
6000 ¥ 21ferh 3R 7000 & &HH 5 | fawIfod 89 a 330 b, 1050
arell fobaHl W g Aadl §, Afe bl B c. 6300 d. 25200
ENEINRCAICFUINISE] g 51.  In how many ways can formed a Committee of 5
a. 28 b. 56 members be selected from 6 men and 5 Ladies,
c. &4 d. 112 consisting of 3 mens and 2 ladies?
44. How many words can be formed using the letter A 63 3R 5 o ol & v g ﬁ °
thrice, the letter B twice and the letter C once? @1 et AR a7 Fenclt 7, fore 3 Y 3R
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2 Higay g— c. 1364
a. 25 b 50 d.  None of these(STH ¥ ®I3 eI
c. 100 LY 58. In an examination, a candidate has to pass in each
52.  Inhow many ways can a team of 3 boys and 3 girls of the five subject. In how many ways can he fail?
be selected from 5 boys and 4 girls? ot wem & Sof g9 & forw 5 fawar & 9
5 ded 3R 5 asfhdl # W 3 osd @R 3 e H S BT Aedd R, Al drs faemef
orsfdar @1 < g9 B fbad i 8i? fobde UBR A Aol & wepar 87
a. 20 b. 40 a. 5 b. 10
c. 50 d. 60 c. 21 d 31
53.  Abagcontains 5 black and 6 red balls. The number 59 12 persons meet in a room and each shakes hands
of ways in which 2 black and 3 red balls can be with all the others. How many handshakes are
selected? there?
TP el # 5 PTefl TAT 6 <Al A< &, 2 Prefl I 12 AT T R F fer 8, AR ude afd
3 olel Qi & T & dIDI DI AT ERf— TH—gER 3 BT AT & a1 e # 'y e
a. 200 b. 100 P GEgT T el
¢ 30 d. 30 a. 144 b 132
54. How many chords can be drawn through 21 points c. 72 d. 66
on a Circle? 60. A Committee of 5 is to be formed out of 6 gents
foeil g ox Rerd 21 fawgan & bt Sftar @i and 4 ladies. In how many ways can this be done
ST Al 87 when each Committee may have atmost 2 ladies.
a. 200 b. 210 6 W 3R 4 AR H H 5 & UH AT a9
c. 100 d. 110 2| I8 fobaeil fAferi 34 81 |ehall &, Sy A<
55. How many different team of 7 players can be 1 gy wmfAe e |
chosen out of 10 players? a. 120 b. 160
10 Raceifedl & Us 99 4 9 7 Rgenfeal &1 c. 180 d 186
foar < BT 61. How many 3 digits number can be formed by using
a. 720 b. 70 the digits 1 to 9, if no digit is repeated?
c. 120 d. None of these 19 9 d®b P JABI B TANTH 3 b fha=i
56. In how many ways can a Cricket team be chosen AT 9 \ehell €, Afe Prg Al 3 Qe AL
out of a batch of 15 player, if a particular player is ST |
always chosen? ) b, 104
15 Racrel & 9q8 d ¥ fba fhde <9 a9 c. 504 d. 405
w8, A T Rt wh Sm A e e 62. Inhow many ways can a team of 3 boys and 3 girls
a. 1364 be selected from 5 boys and 4 girls.
1c>. :iggl 5 Sl 3R 4 TASfhal # 9 3 dsH UG 3
&, None of these(s & F1E TEN dSIcJZHI Eiﬁ fpa= fAfa a9 A 87
a.  “c,x’% b. ¢, x*c,
57.  In how many ways can a Cricket team be chosen c. ‘c,x’, d. ¢ x*,
out of a batch of 15 players if a particular player is
never chosen. 63. If'%c ='c_, thenr=
15 Raedrll & g ¥ W foad fhde A9 & a 2 b 3
|Hhdl B, Ie U Raetrs! &l fbdr W S 4 181 c. 7 d.
ESISL
A 364 afg e =10, B alr=
b. 1001 a. 2 b 3
FHEIT-11 (0T —




c. 7 d 5

9. Evaluate LL_ ,whenn=9,r=5
64. 1If*c :"c,=9:2thenn= n ron-r
n .
a. 7 b. 3 ————— & 74 prel, ST n=9,r=5
i 2 r-n—r e
c .
10.  How many 2 digit even numbers can be formed from
an2 :0c, =92 (g} Fﬁ) n= the digits 1, 2, 3, 4, 5 if the digits can be repeated.
. b 3 3@ 1, 2, 3, 4, 5 B YINT B QT 3Dl DI fhal TH
d' AT g9 Tl 7, IS DT DI QARRMT SIAT 2|
c .2
Short Answer Type Questions
65. If'Sc  ='Sc then'c = (g S<¥l™ yE)
a. 8 b 8l 1. Find the value of r , if 5p_=2.°p _,
c. 28 d. 18 gfe sp =2.5p_ &1, AN r BT AT AT N |
i e =8¢ B, I ¢, = 2. Findcrif 5. =6.p_,
a. 82 b. 81 i 54p = 6.°p, B Tl r T A S DX |
c. 28 d. 18 3. Find the number of words formed (May be
Very Short Answer Type Questions meaningless) by using all the letters of the word
(erfa org Sag UeA) 'EQUATION!', using each letter exactly once.
L Bualuate ™ 'EQUATION' 3 & 3feRI H & U Bl qege:
. aluate
vatuate °p, HIA T IR SUANT PR {1 1Yol A7 fefg=
Sp, BT A et | g I Dl B |
12 4. Find the number of ways of Selecting 9 balls from
2. Evaluate o2 6 red balls, 5 white balls and 5 blue balls, if each
Selection consists of 3 ball of each colour.
mﬁgzﬁ[qﬂﬁ?ﬂﬁ| 6 AT T @I, 5 AHE T BT AR 5 el I DI
AT H F 9 QT & A & ID DI AT AT
3. If'p,=2x°p,, findn. FINTY, I IS U8 # TS I & 3 9 B
“Clﬁ{ “p4= 2 x 5p385[,(_‘ﬁ n ol HI SIid Eﬁ | 5. Ifnpr — “prﬂ and ncr — ncr_l’ Flnd n&r
4, If *p, = 60."'p,, Find the value of n. afe =", aiR e =rc ) 2 ol a3k nsra B
I “p5=60.“'1p3€T Al n P ST B | 156 "
. . 6. If =—— = 5 then find .
5. If o+ =% then find the value of x o1 _
M \Q \ﬁ aﬁmcr :T ﬁ,ﬁr?ﬂﬁﬂﬁl
r—1
1 .1 x
e I8 * 2 (13 &1 T x T A I R Long Answer Type Questions
(el ST 9eA)
6. If "c, = "c,,then find the value "c,
o . 1. In an Examination, a question paper consists of 12
afe Cs = ngsr' ar ¢, T HI =d gy Questions divided into two parts i,e., Part I and
7 Find the value of 1% part II, Coptammg 5 and 7 Questions respect.lvely.
6 A student is required to attempt 8 Question in all,
10, T A fHered | selecting at least 3 from each Part. In how many
8. If'p ='2p , findr. ways can a student select the Question.
afy Mp =12p B AT r BT AT ST B AT e o ST O H 12 TR & S shHE 5 I
v 7 ST ATl /T WUl H favad g e @S 13iR
Gs 11, Ue [Jemll o uQe WS | <Aad 3 Ul
WHEMT-11 (TOTA) —




_12x11

BT T B Y el 8 UL Bl &A BT B | Th 5~ =66 Ans.
fa 3 ' ?
et fham UeR A ueHl &1 799 B Fohdl © 3. Given that (R %)
2. A group of 4 girls and 7 boys. In how many ways b 9 xS
can a team of 5 members be selected, if the team P~ P
has (i) no girls (ii) At least one boy and one girls - |£ - 97X |§
(iii) At least three girls. n—4 5-3
et g 5 wrofbal iR 7 e g s M- D@-)m-3n-4 25
Al B TH S BT gg49 fha ISR | fdar n—4 2
S BT 8, AR EW A ()T M AsH W R = n—DHe—2)0—3) =[5
(i) P9 & BF TP TSPHT a2l Uh asd! © (iii) = n(n-1) (n-2) (n-3) =5x4x3 x2
P T BH 3 dS(hl 2| sn=>5
3. What is the number of ways of choosing 4 cards 4. Given that (fGT ®)
from a pack of 52 playing cards. In how many of
these (i) Four cards are of the same suit. (ii) Four "p, = 60.""p,
cards belong to Four different suits. |£ n—1
52 QT BT UP TS| I 4 Tl Bl G & A<Dl ~ -5 _60|n 4
D AT T & 39 Dl H A fbaqr 7 ()aR o
TF B TBR B § (i) TR T, IR O TR B 27 _onb-1 60—t
n—3>5 m—4)n—5
Answer key STRHTCAT L= 604
n—
2_4n-60 =
Objective Questions = n°-4n-60=0
(a—\ﬁﬁggg:[) =n’-10n+6n-60=0
1 d 2 a 3 ¢ 4 a 5 ¢ 6 a = n(-10)+6(n-10)=0
7 d 8a 9 c 10a 11a 12c = @0-10)(n+6)=0
13 b ;g g ;’ E ;g g ;; g ;i b = n=100rn=-6 (Ve value impossible) —Ve T4
c c -
25c 26c 27c 28b 29d 30a -n=10
31c 32a 33c 34a 35c 36b 5 Giventhat (AT ?)
37b 38a 39 a 40 b 41 c 42 d 1
43d 44b 45d 46 b 47 c 48 c Tt
49 b 50 d 51 d 52 b 53 a 54 b L \— L
55 ¢ 56 ¢ 57 a 58 d 59 d 60 d 2+1 _ x
61c 62b 63c 64c 65c L 13[12
= x =169 Ans.
Very Short Answer Type Questions
(@rfy g ST ge) 6.  Given that (f3aT 8)
1. 7p, = o5 R
2 75—2 We know that
i n = . .n=8+2=10 (Eﬁaﬁﬁ%‘ﬁs)
= 75 x 74 x m N n — 10 — L
73 ST S T ) lo—2
0z
= ns 1 x2%[8
12 _12x11xfo — 45 Ans
o2 [ox2x1
WH&T-11 (MO 57




10.

He&T-11 (oI

IOCZL (nC:L)
6 .[10—6 U ko
_10x9%x8x7x[6
6 X 1X2X3x%4
=210 Ans

Given that (feaT 8)
npr — 12pr_1

2
Tl 2-@-1)
12
“ lli-r [13-r
L 12
l-r @3-p@2-nli-r
S (13-1)(12-1)=12
= (13-1)(12-1)=4x3
=13 -r=4
= r=9Ans

Given that (feaT 2)
n

r.ln—r

Putn=9andr=5 we get

n=93R r=5WgT W
9 9xgx7x6

s lo—s  1X2x3X4

=126 Ans

=N

There will be as many ways as there are ways of
filling Two vacant Places in succession by the
given five digits.

In one's place can be filled by 2 or 4, ie 2 ways.

In ten's place can be filled by 1, 2, 3,4, or 5, ie 5
ways

". There required number of Two digit even
number =2 x 5 =10 Ans

AR Bl 991 b dNp, 2 Rad wEr ol
FTIRR ST TR A R & TPl &) GRAT B
CNEREE

B B WH W, 3fh 2 AT 4 BT APy B | 3rafq
2 fdmeu 2,

TBTS B WIH W 3(b 1,2,3,43T7 557 fdbeT g,
3 5 fawey B,

.. TT 3Tl drell gH Gl Pl 3T axT
=2 X 5=10Ans

Short Answer Type Questions
(og, S ue)

Given that (f&aT %\r)
5pr =2. Gpr-l

s, e

= = Z.

5—r l6—r+1

5 2.6/5
- _

5-r (7-16-15—r

| = 12
= (7—1)(6—1)
= (7-1(6-1)=3x4
= 42-13r+12=12
=12-13r+30=0
=12-10r-3r+30=0
= r(r-10)-3(r-10)=0

= ..r=10o0r 3 Ans

Given that (feaT 8)
5%p,=6.°p,_
bk
T 4y 5—(r—1)
5 _ 6l
N =
4—r 6—r
1 6

Tl T 606l
=30-1lr+1’=6
=r’-11r+24=0
=1r’-8r-3r+24=0

= 1(r-8)-3(r-8)=0

= (r-8)(r-3)=0
S.r=8or3 Ans

There are 8 different letters in the word
EQUATION.

.. the number of words that can be formed using
all the letters of the word EQUATION, using each
letter exactly once, is the number of permutation
of |idifferent objects taken 8 at a time, which is ®p,
=18




Thus, required number of words that can be 6 Given that (fRaT o1 )
formed = [8 = 40320 Ans . 0
c. _ 11
¥e EQUATION ¥ 8 fi=—f=7 3feR 2 | Pe 5
— —r+
.. 3@ EQUATION & |l 8 &Rl &1 SudnT :L\ﬁ ><|r 1|Er 1:%
ID YD JER Bl S1d U IR IUART IRd i1s—r 15
Y ST b dTel ea] Pl AT, Udh I8 H off . f—1(6-nlI5—1 _ 11
TS 8 ST—3NST GRS & HH TRE DI AT e=1fi5=r >
g, S =8 _ lo—r _ %
r
. apfiee dr S 99 gahdl 8= 8 = 40320 — 80-5r=1Ir
3 balls can be selected from 6 red balls in °c, ways. ﬁ 16r =80
3 balls can be selected from 5 which balls in °c, .. T=35 Ans
ways. Long Answer Type Questions
3 balls can be selected from 5 blue balls in °c, way. (ef ST )
Thus, tl;e recguirecz number of ways of selecting 9 | 1 is given that the Question paper consists of 12
balls = ¢, x ¢, x >¢, Questions divided into two parts, Part I and Part I1
_ B % \i % \i consisting 5 and 7 Question respectively. A student
|i|i E X |; B X |; has to attempt 8 question, selecting at least 3 from
 6X5%X4 5%X4  5%X4 each part.
IXx2x3 1X2 1X2 This can be done as follows.
=20 x 10 x 10 =2000 Ans
3 Question from part [ and 5 Question from part 11
Given that (feaT 8) Can be selected °c, < "c,
P = Py 4 Question from part I and 4 Question from part IT
In B n Can be selected in °c, x ¢,
h—r |n—r—1 5 Questions from part I and 3 Question from part
1 _ 1 II Can be selected in 505 X 703
(n=r) |n —r—1 |n —r—1 Thus required number of ways of selecting
- 1_ =1 Questions
n—r
S>n—-1=1 . (1) =%, x Te + ¢, xTe, + ¢ Xe,
Again(fR) "¢ ="c_ = s X z + s X 7 + s X i
N n 2Bkl 4l 4B Isfo a3
n n
= _4X5 T7X6 7TX6X5 TX6X5
“ tlh-r [—1|n—-r+1 %2 Sx2 T rxoxs Tk xs
1 _ 1 =10 x 21 +5x35+35
fr=1h—-r [r—1m-r+Dh—r =210+ 175+35
R %:T_iﬂ =420 Ans
U USAYS H Gl 12 U2 © [O=F 9T 1 3R 91T
=>n-r+1=r - N . .
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(1) " The team will not include any girls.

. 5 boys out of 7 boys can be selected in "c, way

N

The required number of ways = "¢, = L L

(i1) At least one boy and one girl are to be there in
each team.

.". the required number of ways
=T7¢c x4, +7c, x ¢, +7c, ¥, +c, x
=7+21x4+210+ 140

=7+84+210+ 140
= 441

(iii) At least three girls.

1

.. The required number of ways
- 403 x 7C2 + 4C4 % 7Cl
=84+7=091
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There will be a many ways of choosing 4 cards
from 52 Cards as there are conbination of 52
different types of cards, taken 4 at a time.

|52

.. The required no. of ways = *c, = L—
4 |48
_ 52X 51X50X49
1 X2X3X4
= 270725

(1) There are four suits: diamond, club, spade, and
heart there are 13 cards of each suit.

1

.". There are "c, ways of choosing 4 diamonds.
Similarly choosing club, spade and heart.
.. The required Number of ways
— ]3c4 + 1304 + 1304 + 1304
=4.5c,
LB
4 9

=2860

(i1) There are 13 cards in each suit. Therefore,
there are “c ways of choosing 1 card from 13
cards of dlamond similarly choosing club, spade
and heart.

Hence the required number of ways
- 13Cl ~ 13Cl ~ 13cl ~ 13Cl
=13x13x13x13
=13*
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